Simplifying Absolute Value Problems

Evaluate each expression.

1) |-1-2| 2) 9+(]3])

3) [1-4|x-2 o2
-1] +1

5) [1--3] + |5] 6) (|3-3] -—4)x5

Evaluate each using the values given.

7) b— ‘a|;usea=5. and b=6 8) ‘x+ y|;use x=3,and y=-5

9) g— M;use g=3,and r=-1 10) |j—h|;useh=5.andj=6



Answers

Evaluate each expression.

1) |-1-2] 2) 9+(]3])
3 3
3) [1-4]x-2 by 12
. -1] +1
-6
5) [1--3|+]5]| 6) (|3-3|-—4)x5
9 20

Evaluate each using the values given.
T b— ‘a|; usea=5,andb=6 8) ‘x+ y‘;use x=3,and y=-5

1 2

9) g- ‘r‘;use«ng.andr:—l 10) |j—h‘;useh=5.andj:6

2 1



11) x—(|z| +x);use x=6,and z=3 12) 6‘x+y‘;use x=1,and y=1

13) (‘p+q‘)+5; use p=-2,and g=-3 14) j(h- ‘h‘] use h=—1,and j=5

15) ‘2‘ +h+ ‘j‘;useh:& and j=-4 16) ‘x—y‘ +y—liusex=-3,and y=—6
17) 3—(p+ ‘m—m‘]; usem=4,and p=—4 18) ﬁ[m+ ‘—1|]—n;use m=1,andn=-6

19) ‘ab‘ - ‘b‘ +biusea=3,andb=6 20) x—(x+y- ‘—x‘]; use x=-2,and y=4



Answers

11) x—( Z +x); use x=06,and z=3 12) 6‘x+ y|;usex=1.and v=1
-3 12

13) (|p+q‘)+5;use p=-2,and g=-3 14) jlh- ‘h‘];use h=-1,and j=35
1 —10

15) ‘2‘ +h+ ‘j‘;use h=6,and j=—4 16) ‘x—y‘ +y—1;use x=-3,and y=-6
12 —4

17) 3—(p+ ‘m—m|];use m=4,and p=—4 18) n(m + ‘—1|]—n;use m=1,and n=-6
7 —6

19) ‘ab‘ - ‘b‘ +b.usea=3,andb=6 20) x—(x+y- ‘—x|];use x=-=2,and y=4

18 =2



